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MATHEMATICS SSC-I
(For Hearing Impaired Children)

SECTION - A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to

Q.1 Circle the correct optionie. A/B/C/D. Each part carries one mark.

N

(i) The order of ; is:
A fx 2 B 2| C RN D =1
i) The additive inverse of - ;ris:
2 3 -3 2
A R B. - C - D S
{nn The characteristic of log 5030 is.
A | B 2 C 3 D }
(iv) In 9x"the exponent is:
A 9 B. X C 1 D. Gy
(v) 4¥°v +3 is a Polynomial of degree:
A 3 B. 0 C. s D. 2
(vi) (-2) -
A 2 B. -2’ C. 5 D. None of these
(i) 3x 74 2y o 3is written in order.
A ascending B descending C. Irrational D. None of these
o0 07
(viih  The order of ()--. |is:
00
A 22 B. 2x1 C. %2 D. 1~
(ix} From two points line can be drawn
A one B two C. three D. four
(X (— =
A 4 B 8 C. ~16 D. 16
(xi) (x+1) -
A 2wy B ¢ -2a-t ¢ A 2wt D X 2wy
{xi) The angle of measure 50" and |30 are cailed
A, complementary B. supplementary C. adjacent D. acute angle
(xiii)y ("
A S B. 40 C. 4 D. Nane of these
(Xiv) X=0)x- 4y -
A. Y0y 24 B -1y -24  C. e t0x 24 D X1 0v+ 24
3
(xv) 7J is_ matrix.
(2
A Row B. Column C. Square D. Zero
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Time allowed: 2:40 Hours

MATHEMATICS SSC-I
(For Hearing Impaired Children)

S

Total Marks Sections B and C: 60

NOTE:- Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:

Q.3
Q. 4

Attempt any TWELVE parts. All parts carry equal marks.

(i

)
(1ii
{1v)
(v
{vi

(vii)

{(vin

{ix}

(%0
{xil)

{xiin)

(xvi)
(Xvil)

{xviii}

Attempt any THREE questions. All questions carry equal marks.

SECTION - B (Marks 36)

Factorize - +[23

Find H.C F by factorization v z . x

Pl g

Write in Ascending and Descending order 21’ - S+4y" 1 17 0 37

; 1
I Plxy—x" 3y~ 5 then find the value of P{xiwhen v - 2

Add the expressions o' 1 2a” =6a+7 . a 1 2a15 . 24 s 2u—u 8

Simplify (v — v 6)< (v 2)

Write in scientific notation 104 .4

Simplify * = |

o

[k ltw
Write number of Rows and Number of Columns of Matrix /) - ; . Also write the order.

L

.S Sy 571

S 3
A lor 2= . [then find the value of 4 1 s
. H |

Define ciicle with diagram.

Find the value of (903)” with the help of suitable formula.

. ‘ _ !
Remove the radical sign from the denominator -
V8

Simplify 4625

Factorize the following expression 2v 1 - 32y
Write in the Logarithmic form mr® = |

Use farmula to find the product of {2u + 2h) 20 2P)Sa b

Simplify and write the answer in positive exponents (x*1') *

SECTION - C (Marks 24)

Bisect the S.6¢m line-segment.

Construct triangle ABC" when m( A = Idem, - C=60" 4= 45

i

SNy

’].‘.f')

Simplify J P |

e ] 61 y

S

Construct triangle 1/5(' when m( 1 - 4. lenm. mBC - 3.21.‘”),”);;3 = 6.4cm
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(12x3=36)

(3x 8 =24)
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